

UPPER AND LOWER BOUNDS, AND OPERATOR MONOTONICITY OF AN EXTENSION OF THE PETZ–HASEGAWA FUNCTION

TAKAYUKI FURUTA, MASATOSHI ITO, TAKEAKI YAMAZAKI
AND MASAHIRO YANAGIDA

(Communicated by J.-C. Bourin)

Abstract. The Petz-Hasegawa function

$$f_p(x) = p(1-p) \frac{(x-1)^2}{(x^p-1)(x^{1-p}-1)}$$

for $p \in [-1, 2]$ is a well-known operator monotone function on $x > 0$. In this paper, we discuss some properties of the following extension of the Petz-Hasegawa function

$$f_p(x) = x^\gamma \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1},$$

where $p = (p_1, \dots, p_n)$ by only using an elementary technique. Firstly, we get its upper and lower bounds. Secondly, we obtain a result on operator monotonicity.

1. Introduction

In what follows, a capital letter means a bounded linear operator on a complex Hilbert space \mathcal{H} . An operator A is positive semi-definite if and only if $\langle Ax, x \rangle \geq 0$ for all $x \in \mathcal{H}$, and we write it $A \geq 0$. If an operator A is positive semi-definite and invertible, A is called positive definite. In this case, we write it $A > 0$. For self-adjoint operators A and B , $B \leq A$ is defined by $0 \leq A - B$. A real valued function f defined on an interval $I \subset \mathbb{R}$ is called an operator monotone function if

$$B \leq A \quad \text{implies} \quad f(B) \leq f(A)$$

for all self-adjoint operators A and B whose spectra are contained in I . Typical examples of operator monotone functions are $f(x) = x^\lambda$ and $f(x) = (1 - \lambda + \lambda x^q)^{1/q}$ on $x > 0$ for $\lambda \in [0, 1]$ and $q \in [-1, 1] \setminus \{0\}$. Petz and Hasegawa have proven that the function $f_p(x)$ on $x > 0$ defined by

$$f_p(x) = p(1-p) \frac{(x-1)^2}{(x^p-1)(x^{1-p}-1)} \quad (p \neq 0, 1),$$

Mathematics subject classification (2010): 47A63, 47A64.

Keywords and phrases: Positive definite operator, operator mean, operator monotone function, Petz-Hasegawa theorem.

$f_0(x) = \lim_{p \rightarrow 0} f_p(x) = \frac{x-1}{\log x}$, $f_1(x) = \lim_{p \rightarrow 1} f_p(x) = \frac{x-1}{\log x}$ is operator monotone for $-1 \leq p \leq 2$ in [8] (see also [1, 4]). We call $f_p(x)$ the Petz-Hasegawa function (we write it PH function, simply). In this paper, we shall consider an extension of the PH function as follows:

$$f_p(x) = x^\gamma \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1},$$

where $p = (p_1, \dots, p_n)$, and give the following two properties of $f_p(x)$: (i) Upper and lower bounds of $f_p(x)$; (ii) operator monotonicity of $f_p(x)$.

For the first problem, we get two estimations of $f_p(x)$. J. I. Fujii and M. Fujii have been considered a function $\frac{p}{p+1} \frac{x^{p+1}-1}{x^p-1}$ in [3]. One of our results leads that this function is an upper bound of the PH function.

For the second problem, Nagisa and Wada have given an equivalent condition of $\alpha_i, \beta_i, \gamma$ and s ($i = 1, 2, \dots, n$) to that

$$\left(x^\gamma \prod_{i=1}^n \frac{x^{\alpha_i}-1}{x^{\beta_i}-1} \right)^s \quad (\alpha_i, \beta_i \in [0, 2], \gamma \geq 0)$$

is operator monotone in [7]. In this paper, we shall only consider the case $\alpha_i = s = 1$ ($i = 1, \dots, n$) of the above function, but we consider the cases $\gamma \in \mathbb{R}$ and $\beta_i \in [-2, 2]$. These cases have not been considered in [7].

This paper is organized as follows: In Section 2, we shall give upper and lower bounds of $f_p(x)$. In Section 3, we shall show the operator monotonicity of $f_p(x)$. These results are proved by using only an elementary technique.

Takayuki Furuta passed away on 26 June, 2016. He had obtained a small result (a part of Corollary 4), however it had not been submitted. The rest of the authors found his unpublished manuscript when we visited his home in order to arrange his notebooks. Then we added some results into Furuta’s manuscript to make this paper. Takayuki Furuta made outstanding contributions in Operator Inequalities. We dedicate this short note to his memory. We will miss him.

2. Upper and lower bounds of $f_p(x)$

In this section, we shall give upper and lower bounds of $f_p(x)$. In what follows, we consider $p \frac{x-1}{x^p-1}$ for $p = 0$ as $\frac{x-1}{\log x}$, the limit as $p \rightarrow 0$.

THEOREM 1. *Let n be a natural number such that $n \geq 2$, and let $p_i \in [0, 1]$ for $i = 0, 1, 2, \dots, n$ such that $\sum_{i=0}^n p_i = n$. Then*

$$\begin{aligned} (1-p_0)x^\gamma \frac{x-1}{x^{1-p_0}-1} &\leq f_p(x) = x^\gamma \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} \\ &\leq x^\gamma \left(\mu \frac{x-1}{x^\mu-1} \right)^n \leq x^\gamma \left(\frac{x^\mu+1}{2} \right)^{\frac{p_0}{\mu}} \leq x^\gamma \left(\frac{x+1}{2} \right)^{p_0} \end{aligned}$$

holds for $\gamma \in \mathbb{R}$ and $x > 0$, where $p = (p_1, \dots, p_n)$ and $\mu = \frac{1}{n} \sum_{i=1}^n p_i$.

To give a proof of Theorem 1, we shall use the following theorem.

THEOREM A. ([9]) *Let $p, q \in [-1, 1] \setminus \{0\}$. Then*

$$F_{p,q}(x) = \left[\int_0^1 (1 - \lambda + \lambda x^p)^{\frac{q}{p}} d\lambda \right]^{\frac{1}{q}} = \left(\frac{p}{p+q} \frac{x^{p+q} - 1}{x^p - 1} \right)^{\frac{1}{q}}$$

is a positive operator monotone function on $x > 0$, and increasing on $p, q \in [-1, 1] \setminus \{0\}$.

In [9], Theorem A is shown by using a technique of complex analysis. But it can be shown by the following facts, easily: (i) $(1 - \lambda + \lambda x^p)^{1/p}$ is operator monotone on $x > 0$ for $\lambda \in [0, 1]$ and $p \in [-1, 1] \setminus \{0\}$, and increasing on $p \in [-1, 1] \setminus \{0\}$, and (ii) for operator monotone functions $f_i(x)$ ($i = 1, 2, \dots, n$), $(\sum_{i=1}^n w_i f_i(x)^q)^{1/q}$ is operator monotone for $q \in [-1, 1] \setminus \{0\}$ and $w_i > 0$ such that $\sum_{i=1}^n w_i = 1$, and increasing on $q \in [-1, 1] \setminus \{0\}$.

Proof of Theorem 1. First of all, if we take $p_i = 0$ for an arbitrary i , then $p_j = 1$ for all $j \neq i$ since the condition $\sum_{i=1}^n p_i = n$. If $p_i = 1$ for an arbitrary i , then $p_i \frac{x-1}{x^{p_i}-1} = 1$. Hence we only consider $p_i \in (0, 1)$. It is enough to show

$$\begin{aligned} (1 - p_0) \frac{x-1}{x^{1-p_0}-1} &\leq \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} \\ &\leq \left(\mu \frac{x-1}{x^\mu-1} \right)^n \leq \left(\frac{x^\mu+1}{2} \right)^{\frac{p_0}{\mu}} \leq \left(\frac{x+1}{2} \right)^{p_0} \end{aligned} \tag{1}$$

for $x > 0$.

Firstly, we shall show the first inequality in (1).

$$\begin{aligned} (1 - p_0) \frac{x-1}{x^{1-p_0}-1} &= \prod_{i=0}^{n-1} \frac{\sum_{k=0}^i (1 - p_k) x^{\sum_{j=0}^{i+1} (1-p_j)} - 1}{\sum_{j=0}^{i+1} (1 - p_j) x^{\sum_{k=0}^i (1-p_k)} - 1} \\ &= \prod_{i=0}^{n-1} \left(\frac{\sum_{k=0}^i (1 - p_k) x^{\sum_{j=0}^{i+1} (1-p_j)} - 1}{\sum_{j=0}^{i+1} (1 - p_j) x^{\sum_{k=0}^i (1-p_k)} - 1} \right)^{\frac{1-p_{i+1}}{1-p_{i+1}}} \\ &= \prod_{i=0}^{n-1} F_{\sum_{k=0}^i (1-p_k), 1-p_{i+1}}(x)^{1-p_{i+1}} \\ &\leq \prod_{i=0}^{n-1} F_{p_{i+1}, 1-p_{i+1}}(x)^{1-p_{i+1}} = \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1}, \end{aligned}$$

where the inequality follows from Theorem A and the following fact: Since $\sum_{k=0}^n (1 - p_k) = 1$ and $p_i \in (0, 1)$ for $i = 0, 1, 2, \dots, n$,

$$\sum_{k=0}^i (1 - p_k) = 1 - (1 - p_{i+1}) - \dots - (1 - p_n) \leq p_{i+1}.$$

Next, we shall prove the second inequality in (1). To prove this inequality, we show that for each $x > 0$,

$$g(t) = \log \left(t \frac{x-1}{x^t-1} \right) \text{ is a concave function on } (0, 1). \tag{2}$$

For $0 < t_1 < t_2 < 1$,

$$\begin{aligned} t_1 \frac{x-1}{x^{t_1}-1} \cdot t_2 \frac{x-1}{x^{t_2}-1} &= \frac{t_1}{2} \frac{x^{\frac{t_1+t_2}{2}}-1}{x^{t_1}-1} \cdot \frac{t_1+t_2}{2} \frac{x-1}{x^{\frac{t_1+t_2}{2}}-1} \cdot t_2 \frac{x-1}{x^{t_2}-1} \\ &= F_{t_1, \frac{t_2-t_1}{2}}(x)^{\frac{t_2-t_1}{2}} F_{\frac{t_1+t_2}{2}, 1-\frac{t_1+t_2}{2}}(x)^{1-\frac{t_1+t_2}{2}} F_{t_2, 1-t_2}(x)^{1-t_2} \\ &\leq F_{\frac{t_1+t_2}{2}, \frac{t_2-t_1}{2}}(x)^{\frac{t_2-t_1}{2}} F_{\frac{t_1+t_2}{2}, 1-\frac{t_1+t_2}{2}}(x)^{1-\frac{t_1+t_2}{2}} F_{t_2, 1-t_2}(x)^{1-t_2} \\ &= \frac{\frac{t_1+t_2}{2} \frac{x^{t_2}-1}{x^{\frac{t_1+t_2}{2}}-1}}{t_2} \cdot \frac{t_1+t_2}{2} \frac{x-1}{x^{\frac{t_1+t_2}{2}}-1} \cdot t_2 \frac{x-1}{x^{t_2}-1} \\ &= \left(\frac{t_1+t_2}{2} \frac{x-1}{x^{\frac{t_1+t_2}{2}}-1} \right)^2 \end{aligned}$$

holds by Theorem A. Then

$$\begin{aligned} \frac{1}{2} \{g(t_1) + g(t_2)\} &= \frac{1}{2} \log \left(t_1 \frac{x-1}{x^{t_1}-1} \cdot t_2 \frac{x-1}{x^{t_2}-1} \right) \\ &\leq \log \left(\frac{t_1+t_2}{2} \frac{x-1}{x^{\frac{t_1+t_2}{2}}-1} \right) = g \left(\frac{t_1+t_2}{2} \right), \end{aligned}$$

that is, $g(t)$ is a concave function on $(0, 1)$ since $g(t)$ is continuous. Therefore we get

$$\begin{aligned} \frac{1}{n} \log \left(\prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} \right) &= \frac{1}{n} \{g(p_1) + \dots + g(p_n)\} \\ &\leq g \left(\frac{p_1 + \dots + p_n}{n} \right) = g(\mu) = \log \left(\mu \frac{x-1}{x^\mu-1} \right), \end{aligned}$$

that is,

$$\prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} \leq \left(\mu \frac{x-1}{x^\mu-1} \right)^n.$$

Next, we shall show the third inequality in (1). Since

$$\mu = \frac{1}{n} \sum_{i=1}^n p_i = 1 - \frac{p_0}{n} \geq 1 - \frac{p_0}{2} > \frac{1}{2}, \quad \text{that is, } 1 - \mu < \mu$$

and

$$(1 - \mu)n = n - \sum_{i=1}^n p_i = p_0,$$

Theorem A ensures that

$$\left(\mu \frac{x-1}{x^\mu-1}\right)^n = F_{\mu,1-\mu}(x)^{(1-\mu)n} \leq F_{\mu,\mu}(x)^{(1-\mu)n} = \left(\frac{x^\mu+1}{2}\right)^{\frac{p_0}{\mu}}.$$

The last inequality in (1) follows from the fact that $F_{q,q}(x) = \left(\frac{x^q+1}{2}\right)^{1/q}$ is monotone increasing on $q \in [-1, 1] \setminus \{0\}$ by Theorem A.

Therefore the proof is completed. \square

We remark that (2) can be shown by differential calculations, but we prove it by using Theorem A here.

COROLLARY 2. *Let n be a natural number such that $n \geq 2$, and let $p_i \in [0, 1]$ for $i = 1, 2, \dots, n$ such that $\sum_{i=1}^n p_i = n - 1$. Then*

$$\begin{aligned} x^\gamma \frac{x-1}{\log x} &\leq f_p(x) = x^\gamma \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} \\ &\leq x^\gamma \left(\mu \frac{x-1}{x^\mu-1}\right)^n \leq x^\gamma \left(\frac{x^\mu+1}{2}\right)^{\frac{1}{\mu}} \leq x^\gamma \frac{x+1}{2} \end{aligned}$$

holds for $\gamma \in \mathbb{R}$ and $x > 0$, where $p = (p_1, \dots, p_n)$ and $\mu = \frac{1}{n} \sum_{i=1}^n p_i = 1 - \frac{1}{n}$.

Proof. By taking a limit $p_0 \rightarrow 1$ in Theorem 1, we have the desired inequality since $\lim_{\alpha \rightarrow 0} \frac{x^\alpha - 1}{\alpha} = \log x$ holds for all $x > 0$. \square

We can obtain another upper bound of $f_p(x)$.

THEOREM 3. *Let n be a natural number, and let $p_i \in [0, 1]$ for $i = 0, 1, 2, \dots, n$ such that $\sum_{i=0}^n p_i = n$. Then*

$$\begin{aligned} f_p(x) &= x^\gamma \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} \leq x^\gamma \left(\prod_{i=1}^{n-1} p_i \frac{x-1}{x^{p_i}-1}\right) \frac{1}{2-p_n} \frac{x^{2-p_n}-1}{x-1} \\ &\leq x^\gamma \prod_{i=1}^n \frac{1}{2-p_i} \frac{x^{2-p_i}-1}{x-1} \leq x^\gamma \left(\frac{x+1}{2}\right)^{p_0} \end{aligned}$$

holds for $\gamma \in \mathbb{R}$ and $x > 0$, where $p = (p_1, \dots, p_n)$.

Proof. It is enough to show

$$\begin{aligned} \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} &\leq \left(\prod_{i=1}^{n-1} p_i \frac{x-1}{x^{p_i}-1}\right) \frac{1}{2-p_n} \frac{x^{2-p_n}-1}{x-1} \\ &\leq \prod_{i=1}^n \frac{1}{2-p_i} \frac{x^{2-p_i}-1}{x-1} \leq \left(\frac{x+1}{2}\right)^{p_0} \end{aligned} \tag{3}$$

for $x > 0$.

We shall show the first inequality in (3).

$$\begin{aligned} \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1} &= \prod_{i=1}^n F_{p_i, 1-p_i}(x)^{1-p_i} \\ &\leq \left(\prod_{i=1}^{n-1} F_{p_i, 1-p_i}(x)^{1-p_i} \right) F_{1, 1-p_n}(x)^{1-p_n} \quad (\text{by Theorem A}) \\ &= \left(\prod_{i=1}^{n-1} p_i \frac{x-1}{x^{p_i}-1} \right) \frac{1}{2-p_n} \frac{x^{2-p_n}-1}{x-1}. \end{aligned}$$

The second and the third inequalities in (3) are obtained by Theorem A as follows:

$$\begin{aligned} \left(\prod_{i=1}^{n-1} p_i \frac{x-1}{x^{p_i}-1} \right) \frac{1}{2-p_n} \frac{x^{2-p_n}-1}{x-1} &= \left(\prod_{i=1}^{n-1} F_{p_i, 1-p_i}(x)^{1-p_i} \right) F_{1, 1-p_n}(x)^{1-p_n} \\ &\leq \prod_{i=1}^n F_{1, 1-p_i}(x)^{1-p_i} = \prod_{i=1}^n \frac{1}{2-p_i} \frac{x^{2-p_i}-1}{x-1} \\ &\leq \prod_{i=1}^n F_{1, 1}(x)^{1-p_i} \\ &= \prod_{i=1}^n \left(\frac{x+1}{2} \right)^{1-p_i} = \left(\frac{x+1}{2} \right)^{p_0}, \end{aligned}$$

where the last equality holds by $\sum_{i=1}^n (1-p_i) = p_0$. \square

Especially, we have upper and lower bounds of the PH function by Corollary 2 and Theorem 3 as follows:

COROLLARY 4. *Let $p \in [0, 1]$.*

(i) *The inequality*

$$\begin{aligned} f_0(x) = f_1(x) = \frac{x-1}{\log x} &\leq f_p(x) = p(1-p) \frac{(x-1)^2}{(x^p-1)(x^{1-p}-1)} \\ &\leq \left(\frac{\sqrt{x}+1}{2} \right)^2 \leq \frac{x+1}{2} \end{aligned}$$

holds for $x > 0$.

(ii) *The inequality*

$$\begin{aligned} f_0(x) = f_1(x) = \frac{x-1}{\log x} &\leq f_p(x) = p(1-p) \frac{(x-1)^2}{(x^p-1)(x^{1-p}-1)} \\ &\leq \frac{p}{p+1} \frac{x^{p+1}-1}{x^p-1} \\ &\leq \frac{1}{(p+1)(2-p)} \frac{(x^{p+1}-1)(x^{2-p}-1)}{(x-1)^2} \leq \frac{x+1}{2} \end{aligned}$$

holds for $x > 0$.

$\frac{p}{p+1} \frac{x^{p+1} - 1}{x^p - 1}$ in Corollary 4 has been considered in [2, 3].

Proof. (i) and the first inequality in (ii) are obtained by putting $n = 2$, $\gamma = 0$, $p_1 = p$ and $p_2 = 1 - p$ in Corollary 2. The other inequalities in (ii) are obtained by putting $n = 2$, $\gamma = 0$, $p_0 = 1$, $p_1 = p$ and $p_2 = 1 - p$ in Theorem 3. \square

3. Operator monotonicity of $f_p(x)$

First of all, we shall give an elementary proof of the following known result.

THEOREM B. ([5]) For $-2 \leq p \leq 2$, $s_p(x) = \left(p \frac{x-1}{x^p-1}\right)^{\frac{1}{1-p}}$ is an operator monotone function on $x > 0$, where $s_0(x)$ and $s_1(x)$ are defined by using the limit as follows:

$$s_0(x) = \lim_{p \rightarrow 0} s_p(x) = \frac{x-1}{\log x} \quad \text{and} \quad s_1(x) = \lim_{p \rightarrow 1} s_p(x) = \frac{1}{e} x^{\frac{x}{x-1}}.$$

In [5], Theorem B has been proven by using a technique of complex analysis. This proof is very nice, but it is a little bit difficult. Here, we shall give an alternative proof of Theorem B by using only Theorem A and the following well-known fact:

LEMMA C. (ex. [6]) Let $f(x)$ and $g(x)$ be operator monotone functions. Then the following functions are also operator monotone:

- (i) $f(x)^\alpha g(x)^\beta$ for $\alpha, \beta \geq 0$ such that $\alpha + \beta \leq 1$,
- (ii) $f(x^{-1})^{-1}$.

Alternative proof of Theorem B. (i) The case $0 \leq p \leq 1$. In the case $0 < p < 1$, $s_p(x)$ is operator monotone since $s_p(x) = F_{p,1-p}(x)$ and Theorem A. If $p = 0, 1$, it is also operator monotone by taking a limit $p \rightarrow 0+$ or $p \rightarrow 1 - 0$. It is still true (see [9]).

(ii) The case $1 < p \leq 2$. $s_p(x)$ is operator monotone since $s_p(x) = \left(\frac{1}{p} \frac{x^p - 1}{x - 1}\right)^{\frac{1}{p-1}} = F_{1,p-1}(x)$ and Theorem A.

(iii) The case $-1 \leq p < 0$.

$$s_p(x) = \left(-|p| \frac{x-1}{x^{-|p|}-1}\right)^{\frac{1}{1+|p|}} = \left(x^{|p|} |p| \frac{x-1}{x^{|p|}-1}\right)^{\frac{1}{1+|p|}} = x^{\frac{|p|}{1+|p|}} s_{|p|}(x)^{\frac{1-|p|}{1+|p|}}.$$

Since $\frac{|p|}{1+|p|}, \frac{1-|p|}{1+|p|} \in [0, 1]$ and (i), we have operator monotonicity of $s_p(x)$ for $p \in [-1, 0]$ by Lemma C.

(iv) *The case $-2 \leq p \leq -1$.*

$$\begin{aligned} s_p(x) &= \left(-|p| \frac{x-1}{x^{-|p|}-1}\right)^{\frac{1}{1+|p|}} \\ &= \left(x|p| \frac{x^{-1}-1}{x^{-|p|}-1}\right)^{\frac{1}{1+|p|}} \\ &= \left\{x s_{|p|}(x^{-1})^{1-|p|}\right\}^{\frac{1}{1+|p|}} \\ &= x^{\frac{1}{1+|p|}} \left\{s_{|p|}(x^{-1})^{-1}\right\}^{\frac{|p|-1}{1+|p|}}. \end{aligned}$$

Since $\frac{1}{1+|p|}, \frac{|p|-1}{1+|p|} \in [0, 1]$ and (ii), we have operator monotonicity of $s_p(x)$ by Lemma C. Therefore $s_p(x)$ is operator monotone for $p \in [-2, 2]$. \square

By the same way, we can obtain operator monotonicity of $f_p(x)$.

THEOREM 5. *Let $\gamma \in \mathbb{R}$ and $p = (p_i) = (a_1, \dots, a_l, b_1, \dots, b_m, c_1, \dots, c_u, d_1, \dots, d_v)$ ($n = l + m + u + v$) such that*

$$\begin{aligned} -2 \leq d_1 \leq \dots \leq d_v < -1 \leq c_1 \leq \dots \leq c_u < 0 \leq b_1 \leq \dots \leq b_m < 1 \leq a_1 \leq \dots \leq a_l \leq 2, \\ 0 \leq \gamma + (l+v) - \sum_{i=1}^l a_i - \sum_{i=1}^u c_i \leq 1 \quad \text{and} \quad 0 \leq \gamma + (m+u) - \sum_{i=1}^m b_i - \sum_{i=1}^v d_i \leq 1. \end{aligned}$$

Then $f_p(x) = x^\gamma \prod_{i=1}^n p_i \frac{x-1}{x^{p_i}-1}$ is operator monotone on $x > 0$.

In [7], Nagisa and Wada have obtained the following result on operator monotonicity of the function related to $f_p(x)$.

THEOREM D. ([7]) *Let $\alpha_i, \beta_i \in [0, 2]$ such that $\beta_i < \alpha_i$ and $\beta_i \leq 1$ ($i=1, 2, \dots, n$). Then the function*

$$\left(x^\gamma \prod_{i=1}^n \frac{x^{\alpha_i}-1}{x^{\beta_i}-1}\right)^s$$

is operator monotone on $x > 0$ if $0 \leq s \leq 1/(\gamma + \sum_{i=1}^n (\alpha_i - \beta_i))$ and is not operator monotone on $x > 0$ if $s > 1/(\gamma + \sum_{i=1}^n (\alpha_i - \beta_i))$ for any $\gamma \geq 0$.

In particular, by putting $s = 1, \alpha_i = 1, \beta_i = p_i$, we have the following corollary.

COROLLARY E. *Let $p_i \in (0, 1)$ ($i = 1, 2, \dots, n$). Then the function*

$$f_p(x) = x^\gamma \prod_{i=1}^n \frac{x-1}{x^{p_i}-1}$$

is operator monotone on $x > 0$ if $0 \leq \gamma + \sum_{i=1}^n (1 - p_i) \leq 1$ and is not operator monotone on $x > 0$ if $\gamma + \sum_{i=1}^n (1 - p_i) > 1$ for any $\gamma \geq 0$.

Theorem 5 is a kind of an extension of Corollary E, because we consider the cases $\gamma < 0$ and $p_i \in [-2, 0) \cup (1, 2]$ in Theorem 5. Moreover, Theorem 5 implies operator monotonicity of the PH function $f_p(x)$ for $p \in [-1, 2]$. If $p \in [\frac{1}{2}, 1]$, we can get it by putting $\gamma = 0$, $n = 2$, $b_1 = 1 - p$ and $b_2 = p$. If $p \in (1, 2]$, we can get it by putting $\gamma = 0$, $n = 2$, $a_1 = p$ and $c_1 = 1 - p$. We have the case $p \in [-1, \frac{1}{2}]$ since $f_{1-p}(x) = f_p(x)$ always holds.

Proof of Theorem 5. Since

$$\begin{aligned}
 a_i \frac{x-1}{x^{a_i}-1} &= x^{1-a_i} \left\{ a_i \frac{x^{-1}-1}{(x^{-1})^{a_i}-1} \right\}^{\frac{-1}{1-a_i} \cdot \{-(1-a_i)\}} = x^{1-a_i} \{s_{a_i}(x^{-1})^{-1}\}^{a_i-1}, \\
 b_i \frac{x-1}{x^{b_i}-1} &= s_{b_i}(x)^{1-b_i}, \\
 c_i \frac{x-1}{x^{c_i}-1} &= x^{-c_i} \left\{ (-c_i) \frac{x-1}{x^{-c_i}-1} \right\}^{\frac{1}{1+c_i} \cdot (1+c_i)} = x^{-c_i} s_{-c_i}(x)^{1+c_i} \text{ and} \\
 d_i \frac{x-1}{x^{d_i}-1} &= x \left\{ (-d_i) \frac{x^{-1}-1}{(x^{-1})^{-d_i}-1} \right\}^{\frac{-1}{1+d_i} \cdot \{-(1+d_i)\}} = x \{s_{-d_i}(x^{-1})^{-1}\}^{-(1+d_i)}
 \end{aligned}$$

hold for each i , we have

$$\begin{aligned}
 f_p(x) &= x^\gamma \prod_{i=1}^l a_i \frac{x-1}{x^{a_i}-1} \prod_{i=1}^m b_i \frac{x-1}{x^{b_i}-1} \prod_{i=1}^u c_i \frac{x-1}{x^{c_i}-1} \prod_{i=1}^v d_i \frac{x-1}{x^{d_i}-1} \\
 &= x^w \prod_{i=1}^l \{s_{a_i}(x^{-1})^{-1}\}^{a_i-1} \prod_{i=1}^m s_{b_i}(x)^{1-b_i} \prod_{i=1}^u s_{-c_i}(x)^{1+c_i} \prod_{i=1}^v \{s_{-d_i}(x^{-1})^{-1}\}^{-(1+d_i)},
 \end{aligned}$$

where $w = \gamma + \sum_{i=1}^l (1 - a_i) + \sum_{i=1}^u (-c_i) + \sum_{i=1}^v 1 = \gamma + (l + v) - \sum_{i=1}^l a_i - \sum_{i=1}^u c_i$.

By the assumption, $w, a_i - 1, 1 - b_i, 1 + c_i, -(1 + d_i) \in [0, 1]$ for every i and

$$\begin{aligned}
 w + \sum_{i=1}^l (a_i - 1) + \sum_{i=1}^m (1 - b_i) + \sum_{i=1}^u (1 + c_i) - \sum_{i=1}^v (1 + d_i) \\
 = \gamma + (m + u) - \sum_{i=1}^m b_i - \sum_{i=1}^v d_i \in [0, 1].
 \end{aligned}$$

Hence $f_p(x)$ is operator monotone by Theorem B and Lemma C. \square

Acknowledgement. The author (MI) was supported by JSPS KAKENHI Grant Number JP16K05181.

REFERENCES

- [1] L. CAI AND F. HANSEN, *Metric-adjusted skew information: convexity and restricted forms of super-additivity*, Lett. Math. Phys. **93**, 1 (2010), 1–13.
- [2] J. I. FUJII, *Interpolatinality for symmetric operator means*, Sci. Math. Jpn. **75**, 3 (2012), 267–274.
- [3] J. I. FUJII AND M. FUJII, *Upper estimations on integral operator means*, Sci. Math. Jpn. **75**, 2 (2012), 217–222.
- [4] T. FURUTA, *Elementary proof of Petz-Hasegawa theorem*, Lett. Math. Phys. **101**, 3 (2012), 355–359.
- [5] F. HIAI AND D. PETZ, *Introduction to matrix analysis and applications*, Universitext. Springer, Cham; Hindustan Book Agency, New Delhi.
- [6] S. IZUMINO AND N. NAKAMURA, *Elementary proofs of operator monotonicity of some functions*, Sci. Math. Jpn. **77**, 3 (2015), 363–370.
- [7] M. NAGISA AND S. WADA, *Operator monotonicity of some functions*, Linear Algebra Appl. **486**, 1 (2015), 389–408.
- [8] D. PETZ AND H. HASEGAWA, *On the Riemannian metric of α -entropies of density matrices*, Lett. Math. Phys. **38**, 2 (1996), 221–225.
- [9] Y. UDAGAWA, S. WADA, T. YAMAZAKI AND M. YANAGIDA, *On a family of operator means involving the power difference means*, Linear Algebra Appl. **485**, 1 (2015), 124–131.

(Received June 7, 2017)

Takayuki Furuta
 Graduate School of Science and Technology
 Hirosaki University
 1 Bunkyo-cho, Hirosaki, Aomori-ken 036-8560, Japan

Masatoshi Ito
 Maebashi Institute of Technology
 460-1 Kamisadorimachi, Maebashi Gunma 371-0816, Japan
 e-mail: m-ito@maebashi-it.ac.jp

Takeaki Yamazaki
 Department of Electrical
 Electronic and Computer Engineering, Toyo University
 Kawagoe-Shi, Saitama, 350-8585, Japan
 e-mail: t-yamazaki@toyo.jp

Masahiro Yanagida
 Department of Applied Mathematics
 Faculty of Science, Tokyo University of Science
 1-3 Kagurazaka, Shinjyuku-ku, Tokyo, 162-8601, Japan
 e-mail: yanagida@rs.tus.ac.jp